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CUET Admission Test 2005-2006

0l. N8 @, x-99 ACATF /n #I_EDSK A T@IF AL E cosecx |
1+ cosx 3
| — cosx 2sin’ 2 )23
A4E: €f, y=€n3\/ ={n , i =£n(tan—]
1+cosx \2“]5:_ 2
2
2
Y—Efn tan — .'.d—y=-— lxsec i.l
3 2 dx 3 tan X 2. 2
2
2
dy_2 I x=2 il =—cosec X (Proved)
dx 325111 can 3 sinx

02. 3w }f:%(s.in“l X)! =, S@ &M 79 (1 — x) y, — xy; = 1

AW Y| = ] 2(sin K)i (sm X) = sin ~1x. ! 41, (\Jl—x‘?)yl =sin"' x
- dx 1 —x?
4T, [\/l— ]yz + Y- ( 2:{) = xz) y2—Xxy; =1 (Proved)
241 - \f

03. R @3 @I AW GG @R A = {2, -1, 0, 1, 2}; f: A > R FI=E0 f(x) = x° — x + 1 9l F@R©
f(x) 93 @ 7w =9 | Y T 93 @F-9F T2
TIGE: @A, A = {—2, -1, 0, 1, 2}

f(x)=x*—x+1 . @g={7,3,1}
f(-2)=4+2+1=7 T GF O T I (OIe 97 oy oy e
f-)=14+1+1=3 o (@g fog fog W= sinsat g =t |

f0)=0-0+1=1
f1)=1-1+1=1
f2)=4—-2+1=3
04. y=x"—3x+ 2 I&F ERIBT @ T RFTs =M Pate x-Srwa TS STve FINIE fof 3 |

TG y =X — 3x + 2 .‘.jx—y:2x—3

AET =0 x W TG & Y =0 - 2x—3=0 :>x=%
2 |
3 3 .9 9 0-18+8 I 3]
y=[2] 2324222249 = - RemEE | >+ | (A
BF(zj 2 T4 4 ey [2 4](1“)




| @

é KUET, CUET, RUET &5 8 NI4T

05. = foefg = _[:IE cos’ x+/sinx dx
ANTGE: Lm: cosx (1—sin® x)+/sinx dx
' Let, z=sin x
|-z*)Vz dz ,
-[D( Z Nz | dz = cosx dx
1
L2 s 232 2 41 X -
= ﬂ(z z'")dz= 5—-2 ;z l 0 0
1
2 2 _7-3 8 T
—Z_Z-2""7-°  (Ans
3 7 TR Z
06.* n 41w carerzF e 7 A=A n o oW 3(4" + 2n%) — 4n’ 1
YA Vo =3 (4" +2n*) —4n’ V=3 @4'+2.1%)-4.13
Vo=3 (4 +22)-42°Vy=3 (4 +2.3%)-43°
Sn=V+Vo+ Vi +V,
=3{(4' +4* +> .. ... +4™) + 2017 +22 432 4 n%)}
—4(P+2°+3 + ... +n’) =3 44 =)  ,n(n+]) @n+1) —4{"(““)
4—1 6 2
=4(4" =) +n(n+1)2n+1)—n’(n +1)?
07. 15 & »itad 747 (4t eifs +ffore 5 o Ron @b 31 i v ware 21 | v oy @ sRfeE 15w =1
qcq?

AR 15 & (/0 5 T Fiey 3Rfb 15w s Bomw = 15C,

I 10, (15 — 5) & /= 5 & e 6 =19 w7 Somg = 10C,
(15— 5)31 10 & (A= 5 & e =&l o7 wam $eirw = 10C,

Q3 (15— 10) 31 5 &F (= 5 & forear Sffs =9 w17 B = 3¢,
. fonfe SfafG 13w v Tomw 1°Cs x'°Cs x °Cs = 756756 (Ans.)

Croms (Bm)3! 3 (3:-:53)!
(m!)* (5

=756756
08.

AT

LX=5,y=2
LF=3x5+4x%x2
=15+8=23 (Ans.)

09.
ANILA: 4f7, ST T2 o0 @ oar

C
LU FOUr=—— A9 o ar = —
a a
b | :
a=- verrereene oo(1)
a(l+r) -
C ..
or=—.. .. (11)

B B RaEEE

et =t F = 3x + 4y @7 5z T ey 9-
x+y27,2x+5y220,x204aRy >0 |

2x + 5y =20

(0,4)

(0,0) O

X+y=7

ﬂﬁax3+bx+c=ﬂﬁwm‘ﬂ3’ﬂ¢rm.wmwm ac (1 +r)2=b2r|

(11) @ (1) T® o 9T T IFT

b? r

a’ .(l+r)2 B

C
d

br a’c

(1+r)? a

{ 343 |

= ac(l+ r)2 =b?r (Proved)
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10. Iy =2x +3x*+4x° +. .00 T, OTF (78 (T, x—Ey—gy +Ey T -
AL ¥ = 2X + 3X° +4X° e, m::r;1+y=1+2:-c+3:-:2+fil:w.:3 ................ 0
::>I+y=(l—x)-?' = l+y= J ; :(1_}()2:_1__

(1—]{) ' 1-}-}’
] ] 3 )
l—x = =(1+y)"? =l-x=l-—y+2y* ==y +......
=X =gy 1Y) Yy TigY o
1 3 2, S
=—y—= — Y eetrreene e o (Shown
x=_y=gY 16y ( )

11, emeraaa, 2sin 11°15 =\2—v2+42

s L H. S =+/2.25in?11°15' = \/2(1—cos 22°30))

\/2 — J4cos?22°30" = \/2 —xf2+ 2cos45° = \/; —-\/2 + 2.%

:Jz—J2+J_ =R.H.S -~ L.H.S=R.H.S (Proved)
12. 49 <9 ¢ 2sin0 tanB + 1 = tan0O + 2sinH |
st 2sinB(tan 0 —1)—(tan0—1)=0=>(2sin0—1)tan6—1)=0
2sinf—-1=0 :bSiIlB=% .'.9=nn+(—1)"% or, tan8=tan% .'.9=n‘n:+£,nez

13. @35 Sergren e e o7 I Soefee aw 5 ﬂﬁﬁmﬁ:ﬁﬁr% |

2 2 2 2 2
_ X" v e g, b 4 b b® 5 :
Wﬂﬁ.ﬂﬁ,ﬁt‘fﬂ%ﬂww, 32+b2—1,e _1_? ::»5:1—; :::-;:5......(1) .
2 .2 5 9 45 5a
aw 2 =3 T 25
a S5 == (1) ®E]
5 WX 3'2 20 +36y2=405(Ans) |
= b? = ; (i) | 8T a5 ! C a2
4 4 -8y
14. y* = 16x “@Rres SoffFe @ g Sonelas @y 6; & ga g e o
ANE: Yy  =4ax .y =16x .. a=4 oy R p(X, y) M Y
Sorwfigs iy, SP=PM = ZN e
~AZ+AN=AS+AN [..AZ=AS] .
Z A|l S N
=4+x [..AS=a] rx
gEACS, 4+x=6 .. x=2

LY =16x2=32,y=+ 42 - fufages P= (2, £442)

B ECCR S ¢ U ~fdora o sz ..




16.

17.

18.

fSmfAe v epgmes '_
1 2 2]
15. I A=|2 1 2|z wAfrsas A2 —4A — 5],
2 2 1
1 2 2] [1 2 2] [1+4+4 2+42+4 2+4+42]
TAEE: AA=A%[(2 1 2 2 1 2|=|242+4 4+41+4 4+42+2]|=
_2 2 1_ _2 2 I_ _2+4+2 44+242 4+4+]_
9 8] [4 8 8] [5 o0 o
3
A" -4A =51 =g 8[-|8 4 8- 5 0
8 9] [8 8 4f |0 o0 5]
9-4-5 8-8-0 8-8-0] [0 o0 0] |
=[8-8-0 9-4-5 8-8-0|=|0 o ol (Ans.)
8-8-0 8-8-0 9-4-5| |0 0 0O

Somﬁmﬂwwﬁwﬁﬁaﬁwdﬁﬁaﬂ%wm@mmmwﬁaﬁ 75° @32 5D

30° 1Y TRy BT | YTTH(6 AfFTe BT SAfFse vy w5 |
FAATYIN: ATSIFI0 TS BItAd
oifmrer T, @3 T, anilie 3@ P

L___T___ S50 g 200l e i)
sin150° sinl105° sinl105° sinl1035
Osinl150°
T =5 'sml 0
sin]105°

=25.88kg (Ans.)
16 o iy A2 200 =fer soag a?ﬁiﬁwﬁmﬁﬁmw@ﬁwwmd%ﬁaﬁhﬁmw|
160 =fer swtag @ Anfba T (PTRIR MTGICET SReTa G257 S BIeoi ~IfRmicess S | 2 2 37 |

TrrE: oaAr@Er ¢ 2P + P = 160 + 200 160 kg — wt

= P =120 kg-wt A i 8m iB )
A g seeies Ieetene e A, ? l T

IMa =-160 x x — 200 x 8 + P x 16 =0 P W=200kg—wt p

120x16—-200x 8 x
= X = =2m 16 m

160 Klﬁ —
- X
LA 2MIBAR I 14 muA| (Ans.)

93 6 39.2 o @Rt 19.6 v Swer *fE o (ST =P T3 SqefFeid 51 19 | b
ATFAT (@ ¢ @1 foefg =37 ‘

2 = 2
TRIY: @A, g - U Sin” 6

2g
2 19.6 ]
p_usin20 H lanB — =—tan O
g R 392x2 4
. tan 0 = 2x19.6 —1 = 0=45°
39.2 :
2
- 196=" x0.5 Sou=27.73m/s. (Ans.)
2g

T, | s |



BT | 6 |

19. @3 ReE oF T 15 o/ 1are @i 393 (RTe (oIt ©Ite €919 &y 2 5/ Gt Fgard (Tes O3F
39 | 3990 14 fOR/ CLEe FANRC TS AIFE (I IR T [REET 2qaftte $qre A[a?
TargE: 419, [RoEt A 9 (@ B 993 A9 TR0E @ &9 (el SF 396 Q3R t 799 49 D [Fge

Y90S A9eT, AD =ut + %ftz= %x2t2=t2 A B D
| C|IR

BD = vt = 14t, AB = 15m, clbm IR =

P AB+BD=AD = t* =15+ 14t a=2m/s’ v=14m/s

—St?—14t-15=0 = (t=15)(t+1)=0] .. t=158t=—1
- 15 sec =7 ReEt 29z gqte 2@ AD=(15)"=225m (Ans.)

20. GF (IR WET BT CFATA 616 2R | 3 T WRAR @I I % srarsifaena Aer 4w i
e foefa 9 | |

THIGIR: (AT ICETT 89 (FaTe = 616 = 4 TR* =616
—=R*°=49 -~ R=7inc ..D=2x7=14inc
D=0 =% =%wst . IEBINTeT=14x 14 x 14=27441inc® (Ans.)

L
21. (I) @ &g P @3 g@ies P (2, -3, 4) T foqfoq sgW cognq i < |
(@) A (2, -1, 3) a2 B (-1, 2 -3) oqawza @ e wif#o fafa <
TG F) =21 —3]+4k YA
N Ap=(-1-2)i+(2+1)j+(=3-3)k B

OA+AB=O0B
:. AB=0OB-0A

- AB=-3i +33 —6k (Ans.) . '

22. @36 IFT < 100 &, {1,/ T @t $otag e (@em 15 @1, [ 2@ 2m (o0 $49 o9 SES (@ 0T |
&fAS 2 To1g Z0S MG BT TGS HEMS AR #F WG T ZMiv (57 FA? -

100 Ls 50 g,
Ty U= — =27.78ms™; v=—=13.89ms _
3.6 3.6. R
) 2 |
vi=u’-2as -a= (27'782) -{;(1153_89) =1.9%10°ms™ ' Vh ‘I L
> U, 1 : 2
13.89ms " @t oS Seia St “ita W 0.15m ] NN
13.89ms™ @ 06 et | . Tu
O3, X e (on a0, 0= v’ —2ax

~v? (13.89)°
2a 2x19x10°

\Y
W), 1 5cmTen 99 A9 @ /2

D =0.05m =5cm (Ans.)

, 1 (vY 1 2/ 1, 1 2y 1 g4
WWWﬂﬁ'ﬂ‘?ﬂ?k=§m[5] =§m""4,..ﬂﬁﬁi€ﬁr@'ﬂ“@—5mv —Em A —Emv A

I 23/ « LN 15/ _ .
Emv A & T (ew <ate #iitg 15cm ”Em 4111%:1%@@5@@% A—Scm (Ans_.)
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23. 2 o Rfey Somia todt wiaa everafba oy 10 . «=2 220a 9F7 T 2 fr A a3 4 fir, ¥, | ey
AR TR-97 ST welles "o “mieds $3e-97 FReF+1F ods-93 5w srawd @& | T 39I9E SerE
TR 100 Tt Setes 3o et T9e, &y @ TSk ies ePas v qifd 79 |

KUET, CUET, RUET &4 8 J1Y1d

FL
TqE: Y1 :_ﬂrlzfl r=10"m
Y, FL rn=2x10"m
T[r:f:ffz L= L,=L=10m
Y, =4Y, '
2 342 ! 2
4:1‘2?{?2 — (2:"’512 _') fz _}4=4€2 F[=.F2=F= IGOXQ.SN
r2¢, (107)2¢, ¢

Sly=0y sl =101

24. 8 5 ST Ao N G@HOT (PE 5 x 107 ) www w17 DT toF e v e fvfe 2@ T @
ffF= 5¥B= 7.2 x 1072 Nm™!' | |
Y- ngn(leﬂ_‘i)s =§-HR3 =R=1x10"m
W =AA x T =41 (N’ = R*)T =4n [8 (5x107*) — (1x107*)}]x7.2x1072
W=9.05x10""J (Ans.)
25. @3 At @ fewReE w1 @ Sy e 3R =@ em et 200 [, a2 SreEr 10°K | &y crrersfs

WﬁMWWWW2OUOﬁ.WWWWW@WWWI(}r= 1.66)

v Y= 200 3(1.66-1)
s TV =TV = T,=T,|—L| =10° x( J =1047.13K (Ans.)
V, 2000

26.* f&g sfawrer 0w #ifF 932 10°C sromiar g 3= N g w4 29 | a3f@e A g wifawre 20 e 932 339
1A 35°C z& | et $6w 1 @ tera “ifag stz fdfy <09
A My x S x (100 - 35) =M, x S (35 - 10)

= M x 65 =M, x 25 :)Ml:g M, = 2.6M,.

S My = 32—[; =5.55 galon

@32 M, =20 — 5.55 (Ans.)

= 14.45 galon

W, M1+h1h=2'0
2.6 My +My =20

27.* 0.3 f. yPINda @ I <@ 25 G Fer K2 wiet Rt w7 | 93 S e
— -8 214
(o0 =5.67 x IUTAWm K™) e PR G S
TE: E=AcT =25=1.13 x 5.67 x 10 A=4mr =113 m?
.. T=140.55K (Ans.)
28. «afo wfee TG 2F@ ¢ W GRfeHa “Itwa Sger @rss TI@s 92 dB 432 86 dB | Wtva AFfETe
“Td Sl (=Trse el w2 (e Siget, I = 107'2 W/m?)
s B, = 10log-" dB [=1;+1,=1.988x 10~ | Shortcurt:a Type @=
0 Now, math @
B ) 3 b
=log—=92 =1,=(10)?x 107" B, :lolngl'ggg”‘l? dB | =10 log(antilog '°
Ip 1x107" B,
S 1, =159 x 10~ Wm™ =92.98 dB +antilog "1°)
similarly, .. B=93dB (Ans.)

»=(10)**x 1072 =3.98 x 10~ Wm™>

e |




TR ) @

29. G YRGS ATYH ARG TOIF FHFAY (Y0F faST T (ote [eope Rfwawes s oe 73 |

1 1 1 1 1
sgE: — =R - =10.97x10°| — — —
A H[nf ng] [2‘ 3‘]

8
S A=6.56x10"m f=Sa 3x]0-_?=4.57><10”Hz(ﬁns:)
A 6.56x10

30. @0 A AT ST THOT 4 F6 @32 TF 500 AT | 22,500 T ST IS FACS FOM0 NI AT ¥C GF07
TGP0 @0 I T© Fo B Q6 B ATGHICS 2A1[09?

n(n —1)

g W = mgh x
‘mﬁnﬂaﬂwww

A, 22,500 = 500x32x4x 1)

~n‘-n=0.7 ..n=15n<2
. (B AR GF0d T FAF0 CSIET LI AT |
31. 12pC a3z 8uC it 7 ot /=i Az 10 1. fir, v w=fEs | 51t giow 6 @1 f, wmﬁmwa—@?

JIG FACS TLJ | BIE o X0 SA(ZS |
g W=q,(v,—v,) =8x107"x 3 [I_IJ[g=32ﬁ5F2] pl = | a,
dre \1, T a

: e oo 11 T2

=8x107" x12x107" x9%x10"| ———| =5.76] (Ans. 6 F
[0.06 0.1] (Ans.) R I
32. G QRO JIed IeF @ TG 8Q, 12Q), 16Q 8 20Q | 79¢ ST T F© @Y & FAE JIS(0

ARZT AT g w9

P R 8 16
AAYEH: — = — = = S =24; @I TS IS A 24 — 20 = 4Q Ffats 1 (Ans.)

Q S 12 S
33, 0.2 f¥. f. Ies f[(f2 9o e 2t 50 @1 . gary w1fFe *vm S fona s 5 = | “[ 9o S
+f0q et vEre 1.42 fir. &, 2= weenz oo ondy fefar <3 |

mm;}{:}“_[) = 3= a=2mm=2x10"m
a D D=50cm=05m
4 -3 . x=142mm=142x 10" m
= 2x10 ?:2)(10 =568 x 107'm  (Ans.) ) =9

34, farsa fora 3ffe <t ¢ (1) ey @1y fofa o501 (2) afeflb @y ofer eRE @@ w9
sE: R, = (507 +757 +47' ) +100

=103.5290
L __ 6
" 103.529 Iy
I, =0.057A i
[, =0.057x> ‘5539 —0.004A 100 ]
L. =0.057x 2222 —0.00268A 6V = =
3. SN\
I, =0.057x 129 —0.0502A

DR o !




BT BB g . { .@{} i KUET, CUET, RUET &1 8 a4

35. 2f% fe g wwifiem zre 50 @1 f. ¢ 25 o . i@ e Twer R W | Sueren Afere IR G
(TSI WA g W ST (51 | 9FZ FATST 51 T & WA AfSTore 10 &, 1, vtz 7ace =0 | I3 e

Y (91 O “Afasre ety < |
E & E
II :'T
r r,=25cm
E E,
II :_;_!! [1 = B,
I I,
2L R AUK I, = 1,
E, .. 50

= E, =4E, (1)
<$I6 =€l ISP 219
I, _E_zlﬁlz — Ef
I, I,
E, E,
[ =], =— == »>_7 3feq E ¥o2 4 g
noob r Change 2@ |
B By 3% 204 = E =204E, ... i) | % ST r a7 awa g
E, r 35 E Change 29|
1.96

- AE, =1.96E, =—=x100% =49% .. 49% ¥ ™ (Ans)

36. ) @b T T (FIFOT A 25 AL | @ el ver
¥) G0 @ For -5D | @ & @gfoar w7 @ @y Fo7
Wﬂ?{:%‘)p=l:i=+4[)
f .25
) = 1 =—15- =—2m=-20cm (93%«) (Ans.)
p — .
37. wwEren feE oy (reifea 12 pee-cier IS 4 1. . 0 99EE I | OTF WARE  5/4 ©idw I [t

ICF | OF T qioa @i 12 7G99, 3% 20 SR R o W i a9

srareE: C.G.S e FZE:;;J.=§ — mm, =§>¢:42 =20...(i); m, +m, =12.......(i)
20 ) ,

= —+m, =12 >m;-12m, +20=0=m; -10m, —2m, +20=0
m,

= m,(m,—-10)-2(m,-10)=0 s.m,=100r2 .. m,=20rl0 (Ans.)

R | - | T
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38. @) 200 SR fafR @ Feate 0.02 G- 30 x 1070 swer T e T4 = | oae 38 wiike
SEHIES 0T T F© ZA?
) 93 P | EIFe A BfER 2@z 0.1A @@ 0.5A a *ff$s zeum va & FEae 10V sfewrs
3 WIfE T | TSAN0F TR HHT FefT =9

D
e ®) E= N2 ~20022%197 _ 3y (Ans)
dt 0.02

<) E-LZ. 10=L><0'5I0'1 .L=25Henry (Ans.)

dt
39. wora w4y 3.8 e | T o7 o weea 1/10 St w2 A2

0.693

-

J.

- No _ Nee™ = 1 emoer=1l 5 log, e™ =log, —
10 10 10 4

2.303

TAYA: A = =0.18/day N= N,e™

= A= log, 10=2.303 = t= s t=12.8 day. (Ans.)

40.* w3 @G 30 for/ctee QU *77>F Feede e e Sfowy 9@ Ty 10 @ M I@ee e AT=6aCs
Sfoay oa= | 9if*a eFe F1F 800 Hz T 9o\ GUie 9Fe A1 96 @G 720 Ar=2[ae Sfoery I

s . o -
",[CEIE]”;H. HPS F7F $9© AL 24 vo =30 I'IlS-l; V =332 ms ]

TG f’:"r“-kvl % { =§6_2xggg=953‘g]_]z (Ans.) Vs=30ms '; f=800Hz; f =2
V, -V, 302
4]. IES 7T 8

(i) 100°C Siorar | e s 1 fRemar s 9w e 1.70m” |
(ii) T GHCF EFOEI F0ET T 3.28 x 1072% )
(i) S.1. wITF @3 Sfefafr qate "R" @3 7 8.316 JK 'mol™" 8 6.14 IbftK™ 'mol ™' |

42 % 2 &% Na,CO; & 500 1% Aifrs gares Fa @ Jaote @ne w@wes 500 &7, 71, <= == 1 @ gww 50 . f
fe Bz ey 30.4 B F. 0.15 (N) HCI @l <51 297 | 9% geiee eifife e 10 1. 7. 0.12 (N) NaOH
TS T @ FA0d Na,CO; a3 *rear g7 ey o |

10 30.4
T4 47, 50ce Tt Na,CO- WItZ xem - ——x 2 + 12= %15 . x=.17808
| S S 106 1000 1000 -
(.17808x >22) x 100
%Na,CO, = 25“ =89.04%

43. @ @ 6 AR @R N Y 3 [y o7 9 @ -aF 47 SN TFF 9 |
ANTGE:-6 AP (AT AN N O 41 T62 99, QQICe=IE, S, TAiFEe, aenRge, ATAEIET |

/' /' /"7 AN

A S 2




st o oroe S W]

44. 100 &1 F1. zrwgcefae afbte 2.5 am parmEe gaaces 100 6 B CIfN-CT&1T 38 ETer 539 wm@r epifie
AT | YRGNIEE @fites g ffa o

100 . _25 ., 100

1000 100 1000
45.* a3l e o e @ R @7 I Tr@er 60 kPa @ 11.8 kPa | @ STeE 60.0 17 21T @
40.0 a1y frer=e fr @6 st yaet tod w41 20w B (NG I 519 67
TIYE: 4, A = e (CH3 CH,OH); B = fime (CH;0H)
" Py =60kPa, Py =11.8kPa, m, = 60gm, m, = 40gm

A (N :—62:1.30 mole, ng =—A£=l.25 mole
32

46

n, 130
n, +ng 1.30+1.25

Ty 4, HCl @9 9990@l X .. X X x.5x]1 = x=1M (Ans)

X, =

=0.51 . Xg=1-0.51=0.49

QT GG 151, P=P3 X, +PY X = 60x0.51+11.8x049 = P =36.37 kPa (Ans.)
46. 16.26mm¢wmwmﬁﬁmmmﬁwaﬁmﬁﬁwWW?WWNWWW?
e ZnO + C=CO + Zn
faferm =t #1123 81.3gm ZnO = Zn Sesty =3 65.3gm
_ 65.3x16.26

S 16.26gm ZnO e Zn Trofg 7@ = TE =13.06gm
W,Ww=12;:§26gm " C=24gm (Ans.)

47.* fmfafre argwrgz et firwr & & 3 5w fre g
(¥) & M, (%) enfean, (o) ABIFr,  (9) Syt (®) fFm |

AL (F) TG () Tt G 257 (1) QAo (F) 205 =01 =1fe 9f () FIBT ST TS ZIETH] HI |
48. 25°C wrmam fsa @rfbs em.f s 1 3 Fe/FeSO, (0.1M)//CuSO4(.01M)/Cu. (rea1 I,
E° =+0.44V; E° ,==0.34V)

(Fe/Fe™* (Cuw/Cu®*

TAH: QAT Fe/Fe' ofowamfs wimame a3z Cu?t / Cu ofocarfs wers o a1 30 |
.. EDFngc": = U.44V, Eﬂnxl_m.l 2w = _(_034) — 0.34V
o E%en=.44 + 34 =78

_RT  [Eeetr] _ 7g_8314x298 .1
Y nF Rt 2x96500 .01
49. e AfifErs smdefm wofEe soee o
(i) FIEEss (i) G (iii) B seo i (iv) @EE (V) STaiss
syl (i) Nas AlF (ii)) NaCOs3. H,O  (iii) NaNO;

(1v) NHEB:,O?. lOHzO (‘U) MgCO;CaCO;

AR | > |

E , =E° =.75wlt Ans.

cell




M B e qqIeD ; .(é‘i\} } T KUET, CUET, RUET & 8 AN

50. 0.1M sifife «ffe «3z 0.15M e afess amr tear 11 ™ 53w p* oo 39 | $% Farea QiRgie
SrEAa eaEr (2 @ (K, = 1.8 10~ mol L“‘)
T @A, [@fe] = 0.1 M; [=4] = 0.15M; K, = 1.8 x 10~ mol L™

GERN
[afre]

p" =p"* +log

= p' =—log (K,) + log % = —1mg(1.8x10-5)+ 0.176 .. p"' =4.93 (Ans)

W[@E, ptl = — log [H'] = [H'] = antilog (—4.93) .. [H']=1.18 x 107 (Ans.)
51. faygffe smondn cifiefae sriear gacea sefie Jgas g

(F) WEfes, (X)) SEIRA (o) SETCPIRE QRIGICREY (%) @3B
| l
AYE: ) e —C = C — ) SERd —C = C —
0
|l
) sreeRe —0 — H ¥) wiEfexide —C — H

0
|

¢) B —C—0—R

52 .* NfEGIERT Tie a2 o7 (BIEd Sommsa srerg e sifawr g
ST4r; BRI 2% — 18% Cr + 8% Ni + 73% Fe + 1% C
19 (01T —> 88% Cu + 2% Zn + 10% Sn.

53.* fpfaRe YroslFm Sefe-a g 3R 714 3
AYE: (F) @7, (V) &= |
(F) WIAGIRD - Fe;0y.; (@8 (RABI30 - Fey O3
(}) &R - ZnO ; TR — ZnCOa.

54 % fIUeT Q92 TAMET AT AR (e |
FgR; e — A4S

L

cH,oH—HEL ,cn_c1— 2N L cp en—2H9 ,ch. coon
ZnCl, 3 3 [H*] 3
LiAIH
CH,COOH + > CH,CH,,OH
[H*]
e FC© IA=e-

K Cr O +H SO [O]
C,H,OH—2—2 1 _2 4 ,CH,CHO »CH COOH
e +[O] :

+NH Br
CH,COOH :_» CH_CONH 2_,CH NH

170°C—230°C 2 NaOH } 2

CH,NH, + HO - NO—aNQ:+HEL , ey on
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55.* @@=y oft +9r=1 et fes WWWWWW|

1r: NazB407.10H,0 ——s 2NaBO, + B,Os + 10H,0

KUET, CUET, RUET 8§ 3 JJ14TA

[SIEIE:]
NlSOq —d—r)- NiO + SO; + 02
NiO + NaBO, — NiNaBO,
B>0; + NiO — Ni (BOz)z
[=71=76 IMIRT D]
56. AT (AT GICaTray egfore weafbe Riwarnz e |
reE: Ca(OCl) Cl+ Hy,0 — Ca(OH), + Cl,
CH3; - CO - CH; +3Cl, -» Cl;C - CO — CH; + 3HCI
Cl;C - CO - CH; + Ca(OH), — CHCl; + (CH;CO0), Ca
ST
57.* & qat7a @B fAgfEfe weefne et oy
() AT, (L) FEET |

ST T GBI
T T SRS WS G351
GG n -22e [REGHEIT @617 |

58.% (FAFT ¢ (TS T AT iR Foltea IMexosrz I 359 |

(A (AF (Ffa 7@30- 2FeCl, + Cl, = 2FeCl;

(TS I (AT (FAT FI0- 2FeCl; + SnCl, = 2FeCl,; + SnCly4
59. A-SHIETT (e (T AT ereae Rfewr wifeadt 9T %59 |

AATYI:
OH OH
@ +(CH,C0),0 —» @ + CH,COOH
NH, NH-CO-CH,

4- ST coee TG re

60.  0.804 4 R WiRieee «fite 53ge s Fe(1l) v Raife w01 o | Roifis 5aie sife 390s 47.20 .
1. 0.0224 M “{BIRRIT =TT’ Gact eaTes 309 | WHRE @eE Mot e T 7
xx1 4720 0.296 _°

x.0224x5 = x=0.296 .. %Fe= x100=36.82% (Ans.)
56 1000 0.804

61. Translate the follwoing into English :

(a) IETT 9B St &qe aeT |
Ans: Bangladesh is an earthquake-prone area/zone.

(b) STt et et efSBTe SrmiT-wEfefierera oy T Arerife derE At AErESE Wit |
Ans: Student politics is responsilble for the instability of educational institute directly or
indirectly. -

(c) O et orat g SeTe el e =1y |
Ans: The moon and the stars nothing was visible in the sky.

ETR |

ANTYI:




ST | & |

(d) &5 =i e IZT TS ATTF ST (T T '8 TSI T |
Ans: The village people bathe and swim in the river flowing beside the village.
() T (ST LT FIAE & (BBIA (I 1P AT A7 |
Ans: I will leave no stone unturned to help you.
62. Translate the following sentences into Bengali :
(a) A satellite is a man-made device which moves around the earth in an orbit.
Ans: SHHT T TLEF (O TF AN G930 FHATY (AF fA3ACE LAl I |
(b) In fact, the invention of wheel is a landmark in the history of human civilization.
Ans: EFATF, TR FREFR T Torerd T PSS ARTF |
(c) No freedom has any real value for the common man or women unless he/ she also means
freedom from want, diseases and ignorance.
Ans: TOF A5 T4 TF-@T iR, T GIR ST @AF IS T A, TOwT FRTOR &FS 6 (2 |
(d) We hardly realize that the miserable condition due to poverty is our own creation.
Ans: S TR RS AT @, wifdgeratre qre sae fRremeag 72 |
(e) Corruption has been the burning question in our country
Ans: NS SNTAR (ATHT SHF I 7T A WIS |
63. Fill in the blanks with the correct form :
(a) He would understand it if you would explain (explain) it to him more slowly.
(b) I shall pay you now for what you have done (do)
(¢) The burning (burn) of fossil fuel, forest and various pollutants is the source of carbon-dioxide gas.
(d) Mike wished that the “editor permitted (permit) him to copy some of their materals.
(e) Proper steps should be taken (take) against corruption.
64. Correct the following sentences :

(a) I like my tea with the milk. Ans : 1 like my tea with milk

(b) He is in very much distress. Ans : He is in much distress.

c¢) The sun will not rise before an hour. Ans : The sun will not rise within an hour
(d) The matter was informed to him. Ans : The matter was informed him.

(e) I shall compensate the loss to you. Ans : I shall compensate the loss for you. -

65. Frame sentences with the following :
(a) Go along with : I cannot go along with her views on the evolution of human beings.
(b) Up and doing : Be up and doing if you want to succeed.
(¢) Intensive : His disappearance has been the subject of intensive investigation.
(d) Come down with : I think I'm coming down with fever.
(e) Outset : I made it clear right from the outset that I disapproved.
66. Convert the following sentences as directed :
(a) You can, be allowed here only 1f you are a student. (simple)
Ans: Only students are allowed here.
(b) I can never forget you. (Interrogative)
Ans: Can I ever forget you?
(c) He came home to see you. (Compound)
Ans: He came home and saw you.
(d) No sooner did he see me than be began to weep. (Affirmative)
Ans: As soon as he saw me, he began to weep.
(e) His silence proves his guilt. (Complex)
Ans: As he is silent, he 1s guilty.

::.r
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67. Fill up the blanks :
(a) It was far bevond my means.

KUET, CUET, RUET &F 8 A4

(b) Once upon a while, we eat dinner in a Chinese restaurant.
(c) I am familiar with him.
(d) We stayed at a lovely, hotel right on the beach.
(e) This book is so far the best on the subject.
68. Complete the sentences putting the appropriate serial number of column-A into the blank
space of column-B.

Column-A Column-B
(a) He will try (d) than I expected to be.
(b) The teacher can't have them (c) playing the piano.
(c) Did you hear her (e) does not go far.
(d) I'm in more of hurry (a) to do better next time.
(e) Twenty dollars a week (b) wasting their time in this way:.

69. Frame sentences using the following pairs of words with meaning :
(a) Refuge: (I™1) He took refuge in the hostel.
Refuse : (S%13$f) He refused to do this.
(b) Rout: (f4fozgy =7ar1) The enemy was routed.
Route : (%) I came here through a new route.
(c) Sole: (9¥=1@) This is the sole aim of my life.
Soul : (31<) Soul is immortal.
(d) Birth: (&) I love my birth.
Berth : (3@ sr) The upper berth has been fixed for me,
(€) Carve: (¥% ¥E T3 3107) the man carved the tree by small pieces.

Curve : (¢T75@) The curve you've drawn was wrong.

70.  Change the form of following sentences : ‘
(a) He said to me, "I shall go, but you will stay."
Ans: He told me that he would go but I should stay.
(b) Aziz asked to Monir, "Will you meet me tomorrow?"
Ans: Aziz asked Monir if he would meet Aziz on the next day.
(c) He said to me, "Let us go out for a walk."
Ans: He proposed to me that we should go out for a walk.
(d) Father said to me, "May you pass the examination."
Ans: Father wished that I might pass the examination.
(e) The boy said, "What a terrible storm it is."
Ans: The boy exclaimed with fear that it was a very terrible storm.
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